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Demystifying Slopes: LOS

Description

Lt Bishop

This is the first in a couple of short articles examining Slopes in ASL. For such a short
section of Kampfgruppe Peiper, later added into Pegasus Bridge, there seems to be a lot
of confusion around these rules. What's worse, this confusion has led many players to
skip scenarios using Slopes. This aversion has further led map designers to shy away from
adding Slopes to ASL maps which is a shame. As we will see, adding Slopes can
significantly alter the way a map or map board will play.

Slopes are covered in P2 and then recreated in Q3. The Q3 rules are a verbatim copy of
the P2 rules. For this article (and all future articles in this series) | will refer to P2. Just
know that Q3 exists and these articles cover it as well. Also, for ease of explanation, | will
refer to slope markings as “eye-lashes”. To me, they look like eye-lashes and I think it
helps me to think about who is “Up-Slope” and who is “Down-Slope”.

Before We Start

Page 1
© Copyright 2021 - 2023 The Bishop Says



*"-‘ THE BISHOP SAYS
Ched https://jekl.com

OBJECTLVE:
SCIMID )

5 Boundi g Fire Productions, LLC

| would be remiss here if | did not point out Chas Smith’s excellent article Slopes in ASL.
This article appeared in Bounding Fire’s Objective Schmidt. Chas’ article covers Slopes
more deeply than | plan to in these articles. | will touch on everything Chas already has,
but the series of articles | have planned will be more bare bones than Chas’ existing work.
| encourage you to read his article if you haven’t already. It is an outstanding article on
the topic.

Rules Dive

When determining LOS, first determine whether the Firer or Target are “Up-Slope” or
“Down-Slope”. To be “Up-Slope”, the “eye-lashes” have to be in an adjacent hex, making
the units hex the “eye”. The “eye-lashes” are not in the unit’'s hex. To be “Down-Slope”,
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the “eye-lashes” will be in the unit’s hex.

Being in an “Up-Slope” or “Down-Slope” Location is not enough. For the Slope to matter,
LOF/LOS must cross a Slope hexside. If the LOF/LOS does not cross a Slope hexside,
inclusive of vertices, Slope rules are NA. If neither the originator nor the target occupies a
Slope Location, Slopes are NA to LOS/LOF. Intervening Slope hexes are NA to the LOF/LOS
regardless of whether Slopes otherwise apply to LOF/LOS [EXC: Fire Lanes; | will cover
these in a later article].

An “Up-Slope” unit is % of a level higher than the base level of the occupied hex. An “Up-
Slope” unit can trace a LOS across a Slope hexside of its hex to a lower
elevation-including across a hill Crest Line-and over LOS obstacles and Hindrances whose
height is less than the Up-Slope elevation of the viewing unit. As we will see in the
following examples, this can make an “Up-Slope” position powerful. Being “Down-Slope”
can provide TEM and Fire Lane DRM in certain instances. | will cover this in a later article.

Easier Examples
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Figure 1
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These first three examples appear in figure 1. Each portion of the LOS depicted in green is
clear. Let’s examine each of these in turn.

LOS A clear because hex P3 is “Up-Slope”. Notice how the LOS to V8 crosses over the
Slope “eyebrows” and how the “eyebrows” radiate outward from P3. Since a unit “Up-
Slope” is %’s of a level above the base level, a unit in P3 is at level 0.75. This allows it to
see over all half-level LOS obstacles such as the hedge along the U7/U8 hexside. If an
enemy unit were to move through V8 using First Fire Non-Assault Movement (FFNAM), it
would also be subject to First Fire Movement in the Open (FFMO). LOS B is clear for the
same reason. The Grain is a half level LOS Hindrance. LOS from P4 can see over all the
Grain. Grain in the target Location will cancel out FFMO, but FFNAM would still apply if
applicable. None of the other Grain hexes along the LOF affect this shot.

LOS C is a much more complex example. First, since Q4 is not in a Slope hex, it is neither
“Up-Slope” or “Down-Slope”. The Slopes in P3/P4 do not affect LOS. Now the LOF from Q4
suffers the Grain Hindrances. Units in the hexes covered by the Green portion of the LOF
can be fired upon at increasing Hindrance IFT DRM. Those portions covered by Red will be
out of LOS (= 6 Hindrances).

More Complex Examples
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Figure 2

For this next set of examples. Refer to figure 2. Again, the LOS in green are all clear. A
unit in L4 is not “Up-Slope” along LOS A. it cannot see beyond K4 along this LOS. A unit in
L4 is “Up-Slope” along all the Green LOS and can see over the level 3 Crest line. LOS to
D9 (E) passes over the Orchard in G8. The Orchard creates Blind hexes normally. Take a
moment to see if you can figure out how many.
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The “top” of the Orchard is at level 1, thus it creates one Blind hex. In addition, the
Orchard is 6 hexes away from L4. Dividing 6 by 5 (FRD, A6.41) adds a Blind hex. Finally,
since level 3 is 1 full level greater than level 2, the minimum required to see over the
level one LOS Obstacle, it reduces the number of Blind hexes by 1. This LOS has one Blind
Hex in F8. Notice, the extra % elevation in L4 played no part in calculation of Blind hexes.

LOS B is an interesting case. A unit in L4 is still “Up-Slope” as the LOS passes through the
Slope hexside vertex. The top of the H4 Woods hex is at Level 3. Relative to the Slope
hex, it will create 1 Blind hex meaning F4 and E4/E5 are in LOS. LOS to D4 and beyond
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would be open but for the Orchard in E4. The top of the E4 Orchard is at level 2. Range to
the Orchard is 7, creating two Blind hexes. This time, there is no reduction for height over
the obstacle so the final Blind hex Count is 2. How ever, the drop-off to level 1 in B4 ADDS
an additional Blind hex per A6.43. The Orchard blocks LOS to B3/B4. LOS to A4/A5 would
be Open. Those A-row hexes are 4 hexes away from the E4 Orchard and thus, no longer in
an E4-created Blind hex.

Conclusion

From these brief examples, | hope you can see how Slopes can entirely change the feeling
of a map. LOS that were previously heavily hindered are suddenly -1 FFNAM shots. Being
able to see over Crest Lines from “interior” hill hexes adds a new level of dynamics to
approaching “hill-top” defense scenarios. And frankly, they really aren’t that hard to grasp
if you're willing to spend 10 minutes looking at a few examples. Are they a layer of
chrome? Sure, but not one that is hard to understand and for a slight increase in
“complexity”, they bring a whole new dynamic to the game and map design.

Up next will be Slopes and Movement. See you again in two weeks. - jim
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